1 Express each of the following as a simpler trigonometric function.
(@) sin(7-x) (b) cos(%—x) () tan(27-x)

(d) cos(m+x) () sin(2r-x) i) cot(%-x)

2 For any angle 6, cos(m— @) is equal to:
A —cosf B cos@ C sinf D -sin@

3 Indicate whether each statement is correct or incorrect.

(a) cos(%—ﬂ)=cos& (b) cos(2m-6)=cos@® (c) sin(m+ ) =sinb (d) sin(27—@)=-sinf
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4 If sinx = 0.2, write the value of:

(@ sin(r=x) (b) sin(2r=x) (c) sin(=x) (d) cos(%—x) (e) sin(m+x) (f) cosecx

6 If cosx =c, express the following in terms of c:
(a) secx (b) cos(=x) () cos(m=x) (d) cos(2m—x) (e) sec(=x) () cos(m+x)
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7 Write the exact value of:

(@ sinZ 0) cosZE (o) an2E  (d) cosx
(e) sec 3% (f) cot2Z (9) cosec X (h) sin=- 2x
4 6 2 3
9 Write the exact value of:
(@) sin 3; (b) tan 5;: (c) cosec 1};’ (d) tan 7f
in 117 Sn S
(e) cot—= () cos— = (9) sin == (h) cosec =3~

Section 2 - Page 3 of 6



12 If @is an angle in the 2nd quadrant, state whether the following are positive or negative:
(@) cos(z—6) (b) tan(z+ 6) (©) sin(% - e)

d sin2r-0  (¢) cos(r+6) 0 tan(%—&)

14 Using a diagram, find equivalent expressions for:

@ cos 3T"+x) (b) :an(%'—x) © sm(%‘—x)
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13 Solve, for0<x < 2m:

(a) sinx=—§ (b) tanx=-1 (c) cosx=-1 (d) cotx=43
(e) secx=-J_E () sinx=cosx
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13 Solve, for0 < x < 2nm:

(@) sinx=0 (h) 2cosx+1=0

(i) 2sinx =43 () sinx++3cosx=0 (k) cosecx=secx
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